r o~ !
o i e e b e o ot e o v o M 1)/

N-n-n | [ m

.

*




SYSAACKS y ®

vy 4 .
5 544.8mm |

=

=

o

o0

~

o

0

Lo

o

599mMm
450-600-900mm

6U-368
9U-501
12U-635

15U-769




SYSAACKS
A4

548.8mm 450/600mm

i i

Wwi 06

18U-901.Tmm
22U-1079mm
27U-1302mm




SYSAACKS ), ®

STEP#1

Using self-tapping screws M6
combine frames, top and
bottom into a single carcass.

5 - i \\\\-\\\\\'\' L




SYSAACKS , o

STEP#?2

Using Bolts M6 and Cage nuts
install the vertical mounting rails.

Youtube assembly video guide “SYSRACKS WALL MOUNT"




SYSAACKS , ¢

STEP#3

Use the M6 bolts/nuts to
install the shelves at a
desired height

-
0"
1 -
-




SYSSACKS , i

STEP#4

Install the rear panel
using M4
self-tapping screws.




SYSANCKS /

STEP#5

Install the side panel locking
mechanism.




SYSANCKS /

STEP#6

Install the levelling feet.

18-27U
12-15U.900mm(35in depth)

Using M6 bolts
and nuts,

Install the casters.




SYSAACKS , ¢

STEP#7

Install the front door locking mechanism.

7 \ 10 @




SYSAACKS ), ®

STEP#3

Use the plastic bushings
(or adjustable washers

if needed) when mounting
the front door.

y 4 \ 11 ®



PRODUCT LINE

.,

| i
SYSRAACKS

Distribution of Telecommunication & IT Equipment

[=]47: [=]
www.sysracks.com - 366 McArthur Street, St-Laurent
.I Montreal, QC, Canada H4T 1X8
5 14-660-6333 E info@sysracks.com




	1стр
	2стр
	Страница 1

	3стр
	Страница 1

	4стр
	Страница 1

	5стр
	Страница 1

	6стр
	Страница 1

	7стр
	Страница 1

	8стр
	Страница 1

	9стр
	Страница 1

	10стр
	Страница 1

	11стр
	Страница 1

	12стр
	Страница 1


